

NOMBRE: _____.

Expresa como potencia de exponente positivo:

$$\left(\frac{2}{3}\right)^{-2} = \left(\frac{\quad}{\quad}\right) \quad \left(\frac{-1}{3}\right)^{-6} = \left(\frac{\quad}{\quad}\right)$$

$$\frac{1}{3^{-1}} =$$

$$(2^{-3})^2 = \left(\frac{\quad}{\quad}\right)$$

$$\left(\frac{1}{6}\right)^{-3} =$$

$$(-10)^{-5} = \left(\frac{\quad}{\quad}\right)$$

Expresa como potencia de exponente negativo:

$$\frac{1}{(xy)^2} =$$

$$\frac{1}{2} =$$

$$\frac{1}{\left((-3)^2\right)^2} =$$

$$\left(\frac{-1}{2}\right)^3 =$$

$$0,000001 =$$

$$\frac{1}{\left((-5)^2\right)^3} =$$